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Chapter 10: Inequalities

Packet Overview

two variables.

Test Friday, April 17t on 10-1 through 10-8

Date Objective(s) Page Number

Monday, April 6 Chapter 10-5: To solve equations and inequalities 2-5
involving absolute value.

Tuesday, April 7 Chapter 10-5 continued: To solve equations and 6-8
inequalities involving absolute value.

Wednesday, April 8 | Chapters 10: 1-6 Review 9-11

Graphing Linear Equations Review

Thursday, April 9 Chapter 10: 1-6 Quiz 12
Chapter 10-7: Be able to graph linear inequalities in 13-15

Friday, April 10

No school -- Holiday

Additional Notes:

*

%+ Materials: Printed packet or notebook paper; pencils. (Calculators not needed).

> Note: If you are using notebook paper, be sure to write the pages and numbers of the

material.
» Example: P. 6; #1)

0,

% Answers are given at the end of each assignment.

% Quiz: Located on pages 15-16. This should be taken without looking at previous work. No
answers are provided for the quiz.

Academic Honesty

| certify that | completed this assignment
independently in accordance with the GHNO
Academy Honor Code.

Student signature:

Parent signature:

I certify that my student completed this
assignment independently in accordance with
the GHNO Academy Honor Code.
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Monday, April 6

Algebra Unit: Inequalities
Unit Overview: Inequalities

We are now starting Chapter 10, Inequalities. In this chapter, you will:
1) Review the concept of order and to graph inequalities in one variable,
2) Transform inequalities in order to solve them,
3) Solve problems that involve inequalities,
4) Find the solution sets of combined inequalities,

8) Graph a solution set of a system of two linear inequalities in two variables.

Lesson 10-5: Absolute Value in Open Sentences

Objective: Be able to solve equations with inequalities involving absolute value.

Y

Hello! I hope that you are all doing well. I really miss working with you in class!
Today, we are starting with lesson 10-5. Let’s get started ©).

Y

Reminder: |a] is the distance between the graph of a number a and the origin (0) on the

number line.
[ ]
Given Graph Word Sentence Answers
about the distance between
numbers.
1) |x| =4 K The distance X=4and x=-4
ETEYTRES :5 between x and

zero in 4 (4 right
and 4 left).

2) lyl=3

Your turn! A ———————t———+
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|||||||||||
......

Vs 5 i _
3) |[r] =5 5 5 The distance r>5o0rr<-5
PR U e R RS between r and
DRI 73453 Zero is greater or (Notice that the > switched to <
These are GREATER than 5 hops from | oy 191 t0 5 when the sign changed).
zero, so they point out. q '
4) |p| <3 <IN The distance p <3ANDp > -3
T —2 between p and O is (Notice that the < switched to >
=+ when the sign changed).
3940129 less than 3. on changed)
. . o “AND” is used because the
These point inward because there must lines join.
be LESS than 3 hops. ° With “AND,” the answer is
written like this:
-3<p<3
5 |m| <2
Trythenext |
two.
6) |n| =2

7)

The distance

n—1<3ANDn—-12=-3

Giveitatry!

|||||||||||
...........

H Notice that th
In—1] <3) between n and 1 is ‘Sign'gih;ngeg),
A éigg%’ L less than or equal n<4ANDn> -2
Ifyousetthe to 3. —-2<n<4
n=1
Then, 1 is where
you start.
8)
In—2]>3
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9) m The distance v+5>20Rv+5< -2
> ° Notice that the first inequality is
IU + 5| > 2 ‘r—‘“ ey petween vand -5 the same as what was given
ER] '*’_5“\\'-‘5 =2 IS greater than 2. except it doesn’t have absolute
v+5=0 value signs.
= _§ e Also, the >< switched as well
v= as the signs.
. Solve:
v>-30Rv< -7
10)
lv+5] <2
Similar yet
different!
11) LN/ T The distance 1-s240R1-s<-4
4 <|1-s5| ”’ib””.’L > between s and 1 is Solve
3y 4349 :
sz R greater han of Cs=3or—s<-5
1+_S s :SO *Reminder: if you multiply or
1= divide both sides by a
=S negative, flip the signs!
s<—3o0rs=5
12)
3>12—¢q|
13) YL The distance 2+m<land2+m>-1
1> 12+ m| T e between m and -2
SR is less than 1. m<-landm> -3
jz+ml< -3<m<-1
24+m=
m=—
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14)
8 <3+ w|

> Answers: (5)—2<m<2 (6)n<—-2o0rn=2 B)n<-lorn>5(10)-7<
v<-3(12)—-1<g<5 4w <—-1lorw =5

» Now, complete the ORAL EXCERISES #13-18 on p. 484. (Here or on loose-leaf).

13) 14) 15)

16) 17) 18)

Answers: (13) f (14)a (15)e (16)d (17)b (18)c
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Algebra Unit: Inequalities

Lesson 10-5 Continued: Absolute Value in Open Sentences

Objective: Be able to extend your skill in solving open sentences that involve absolute value.

> Yesterday, we learned about the meaning of absolute value equations. Today, we will

learn the simple way to solve them!

» Look at the equations that were written in yesterday’s chart. Do you see the similarities?

1) |k+7]=3 2) 17—y|=4
k+7=3 or k+7=-3
-7 =7 -7 -7
k=-4 or k=-10
® e
AN W W NN N N N NN N SR R B /{{{==}=====\
\"|Ia 1 ’I|0 1 ‘19 I_E) T _IL\ l'_l3 ~N ra
3) |s| =15 4) |t + 4] <10
s>1.5 or s<-1.5 t+4<10 AND t+4>-10
-4 —4 -4 -4
( t<b6andt>-—-14
I e e PN
S - MMM MRS M e s masy e ey s
o ) 2 R A A T g~
5) |[4—v|>5 6) |-1—b| <6
4—v=>5 (and/or??) 4—-v<-5
—4 -4 -4 -4
-v=>5 —v< -5
v<-5 v=>5
Remember, if you multiply or divide both sides by a
negative number, you need to flip the greater than/less
than sign.
—— d/\ — AN W WA TN NN W NN SN NN WA S NN
< = : = 1 } : : | : { { N N I T I T T T T T T 7
-9 o o)
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Answers: (2) {7,11} (6)—-7<b<50rb>-7andb <5

» The next step is that you must isolate the absolute value before you write two equations.

7) 4lp|—1<15 8 |12—¢q|-3<1
+1 +1 +3 +3
4|p| < 16 12 —q| <4
-4 +4
2—q<4 2—q>—4
Ip| < 4 -2 -2 -2 —2
Now you can write two inequalities and solve: —q<2 —q>—6
p<4andp > —4 q>—-2 and q<6

Note: if you aren’t sure if it is AND or OR,
plot them on a number line.

9) 4-3ly[<1 10) 8—|1—x|>7
—4 —4

=3lyl < -3
+~—-3 +-=3

lyl > 1

y>lory<-1

Answer: (10) The numbers are between 0O and 2. x > 0and x < 20r 0 < x < 2

» Your assignment:

p. 485 #13-27 odd, on the next page or on a piece of loose-leaf paper.
Be sure to use a pencil, show the steps, and graph the solution set.
Check all answers in the back of the book.

Correct your work with a red pencil.
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13) 15)
17) 19)
21) 23)
25) 27)

Reminder: Check and fix your answers @). Odd questions have answers in the back of the book.
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Wednesday, April 8

Algebra Unit: Inequalities

Lesson: Review 10:1-6
Review graphing of linear equations.

Objective:  Be able to solve inequalities and inequalities with absolute value.
Be able to write and graph linear equations.

» First, we will review sections 1-5 and complete a few questions from section 6.
» Turn to page 489 and work on the “Self-Test” #’s 1-12

1) 2) Reminder...Write two separate inequalities
—2<y+4<5
—2<y+4 and y+4<5

3) 4)

5) 6)

7) 8)
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» Questions 9-12 are from 10-6. We didn’t cover the details of this until, however, you can
solve them the same way.

9) 10)
l4s — 13| < 7

4s—-13 <7 4s —13 = -7

Finish...

11) 12)

» Check your answers! They are all in the back of the book.These will be like the quiz
tomorrow.

» The next questions are a review of graphing linear equations.
e Besure that Y is by itself and is in slope-intercept form (y=mx+b).

e Begin the graph by graphing the y-intercept (b).
e Use the slope (m) to plot more points.

Graphing Worksheet

1a. oad — 1b. ot
X jlopc("’\): —zllaf "ST '
b '
1\
[ i
|l ]
B
| LY
F
A v
Graph the equation y = -3x + 3 Graph the equation y = (-12/7p -7

10
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2a. it 2b. 1
Graph the equation y = 3x + 7. Graph the equation y = (-1/8)x— 7
» Solve for Y!
1a. \\ it é x +5\/ :O 1b. 1
Ly - -
\ bx TAS
™ 2 57/ = ’é, e 2
b - -5
h\\ \/ - ¢
)
Graph the equation 6x + 5y = 0 m - __5"_ b — O Graph the equation 4x—y+5=0
2a. 1 2hb. 1

Graph the equation 4x + y -6 =10

Graph the equation 5x + 3y — 12 =0.

> Answers:

y(a2Te-7

y= -7

ax+y-6=0

Sx+ay-12=0

11
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Algebra Unit: Inequalities

Quiz 10-1 to 10-6: Inequalities and Inequalities with Absolute Value

Lesson 10-7: Graphing Linear Inequalities

Objective: Be able to graph linear inequalities in two variables.

» Time for a quiz. All you need is a pencil.

» Solve and graph

1) 2x—-5<7

2) 3(x—1)>6

3) 4<3a-1<5

4) k+6<-3 or

5 |lv—6]=3 6) |13+z| <4
&1 1 I 1 I I I i ‘1 1 1 1 1 | il 1 1 1 1

12
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» Great Job!!!
» Now, we will begin 10-7
» Open textbook to page 492-493 and look at the Written Exercises.

EXAMPLES HOMEWORK
2) y>4 1) y=>4

iy

Ly
Dotted line
because

no equal & -
sign.

T 111

Gl S I L P SR I e TR
= R = o o

-

L.
1 2 3 4 58 T

-

Colored S B i T | BRI I
ABOVE
because
GREATER
THAN.

R A S e
o Eroos

4) x<1 x<1

¥
Solid line
because
equal
sign.

= = s s s
[ N R e e

i

.
% 54321 [Pl zz4558 7" b 7 I R BT I

A

Shaded
left
because
numbers
to left
are less. A

\-:
V1 2 3 4 5 6 T

<o E oo o
B N N S

10) y>—x+1 9) y<x+5

m=-11 N

b=1

P .
—;—ﬁ—vwrwﬂr-}-

iy

,0
9
o

P
R SRR - T

Greater than,
soshade 7431
above the

line

—

‘1\423456’ 4 34321 [P1 23435 6"
N

[ 5]

o~
a

ou
% y

[

T Lo

o
J
B NS N

+
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12) y>1—-3x
m =-3/1
b=1

Solid dots
and line

v

because
there is an
equal sign.

2 3 4 5 A

11) y<3-—x

¥

= B = o

.
a5 43 321 ¢

R I N

N
1 23 4 5 &

14) x—y >3
Solve fory.

—y=-x+3
y<x-—3

Note: If you
pick a point
in the

shaded region
(5. 1),

¥

RO L = I

- - il
itwill work. =654 321

x—y=3

5—1>3 i

4 >3 True P

Lo Npy |
\

b e

)x+y<1

y A

Lo SR T SRR

.
N6 54321

i A N

_L(
1 23 45 6

16) 2x +y > —4
y>-—2x—4

Does (0, 0) )
work? '\

2(0)+0>—4 .
0> —4True

Does (-4, 1) \
work?

2(-4) + 1> —
-8+1>4
—7 > 4 False

T
01 2 3 45 6 &

15) x — 3y < —6

= 3 oF = o

-

.
6 5 4 3 2 -1 |

IR SEOLTES

.
1 2 3 4 5 6

14
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26) See graph. Answer: x < 2 25) See graph.
Answer:
28) slope=m = — Z, y — intercept = 27) See graph
b=10 m= b=
y=mx+b Equation:
< 3
y<—3X

» Be sure to check your answers in the back of the textbook!

» NOTE: Test next Friday, April 17 on 10-1 through 10-8

Friday, April 10

Algebra Unit: Inequalities

Lesson: Holiday! See you on Tuesday!

15




